Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: January 18,2016

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

1st Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-01-024	Newspaper Publication	75,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	lot	Publication (Newspaper)	1	75,000.00	75,000.00
		Invitation to Bid			-
		* general nationwide circulation which has been regularly published for at least two (2) years before the date of issue of the advertisement.			-
					-
		TOTAL			75,000.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-01-026	Drugs & Medicines	200,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	boxes	Amoxicillin 500mg capsule x 100's	40	800.00	32,000.00
2	boxes	Amoxicillin 250mg capsule x 100's	40	550.00	22,000.00
3	boxes	Mefenamic Acid 500mg tablet x 100's	40	715.00	28,600.00
4	boxes	Mefenamic Acid 250mg tablet x 100's	20	420.00	8,400.00
5	boxes	Tranexamic Acid 500mg capsule x 100's	2	2,900.00	5,800.00
6	boxes	Tranexamic Acid 250mg capsule x 100's	2	2,700.00	5,400.00
7	bots	Cefixime 100mg/5ml suspension x 50ml	10	560.00	5,600.00

8	bots	Cefixime 200mg capsule x 30's	8	4,000.00	32,000.00
9	boxes	Levocetirizine 5mg tab x 30's	10	1,650.00	16,500.00
10	bots	Levocetirizine oral drops 5mg/mlx15mlx1's	4	320.00	1,280.00
11	boxes	Cefuroxime 500mg tablet x 60's	2	2,710.00	5,420.00
12	boxes	Ciprofloxacin Hcl 500mg tablet x 100's	3	4,400.00	13,200.00
13	boxes	Clarithromycin 500mg tablet x 100's	3	4,500.00	13,500.00
14	bot.	Clarithromycin 125mg/5ml susp.	10	260.00	2,600.00
15	boxes	Azithromycin 500mg x 3 tabs/box	10	380.00	3,800.00
16	bot	Azithromycin susp 200mg/5ml x 15ml	6	650.00	3,900.00
		Note: Expiration Date should be at least 2 years from date of purchase			
		TOTAL			200,000.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-01-025	Laboratory Supplies & Reagents	100,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	gallon	Povidone Iodine (Bacticide) 10% solution	2	1,500.00	3,000.00
2	boxes	Face Mask 3 ply (ear loop garter) x 50's	3	230.00	690.00
3	amp	Epinephrine 1mg/5ml	10	52.00	520.00
4	amp	Oxytocin 10 IU Injection x 1ml x 10 amp.	10	60.00	600.00
5	rolls	Absorbent Gauze OS Big 40"s/40"s	4	1,400.00	5,600.00
6	bots	Hydrogen Peroxide (10 volumes/ 1 ltr.	50	120.00	6,000.00
7	bots	Alcohol 70% Isopropyl 250ml	50	45.00	2,250.00
8	rolls	Cotton 400grms	10	120.00	1,200.00
9	boxes	Dental Needle Long	20	500.00	10,000.00
10	boxes	Dental Needle Short	20	500.00	10,000.00
11	cans	Plaster (Zinc Oxide-Adhesive Plaster, 12	2	470.00	940.00
12	boxes	Surgical Cap x 50's	2	150.00	300.00
13	рс.	Mayo Hegar Needle Holder 162 cm	1	900.00	900.00
14	boxes	Needle 25g x 5/8 (0.50 x 16mm) x 100's	5	320.00	1,600.00
15	boxes	Sterile Surgical Gloves size 6.5 x 50"s	10	1,200.00	12,000.00
16	boxes	Sterile Surgical Gloves size 7 x 50's	10	1,200.00	12,000.00
17	cart.	Lidocaine Hcl (R)- Epinephrine Hcl	18	1,800.00	32,400.00
		Note: Expiry date should be at least 2 years from date of purchase			
		TOTAL			100,000.00

PR NO.	PARTICULARS APPRO		FUND SOURCE	
		COST		
100-16-01-027	Drugs & Medicines	64,128.00	General Fund	

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	boxes	TAMSULOSIN HCL 200mg capsule x 30's	18	2,750.00	49,500.00
2	boxes	Ciprofloxacin Hcl 500mg tablet x 100's	6	2,438.00	14,628.00
		Note: Expiry date should be at least 2 years from date of purchase			-
		TOTAL			64,128.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-01-012	Fuel, Oil & Lubricants	300,312.46	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	ltrs.	Fuel, Oil & Lubricants	6006.25	50.00	300,312.49
					-
					-
		TOTAL			300,312.49

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-01-002	Cellcards	149,500.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	рс	Globe 100's	15	100.00	1,500.00
2	рс	Globe 300's	20	300.00	6,000.00
3	рс	Smart Buddy 100's	164	100.00	16,400.00
4	рс	Smart Buddy 300's	150	300.00	45,000.00
5	рс	Smart Buddy 500's	7	500.00	3,500.00
6	рс	Sun Cellular 300's	4	300.00	1,200.00
7	рс	Sun Cellular Unli-Call & Text 200	11	200.00	2,200.00
8	рс	Talk n' Text 100's	187	100.00	18,700.00
9	рс	Talk n' Text 300's	75	300.00	22,500.00
10	рс	Talk n' Text 500's	1	500.00	500.00
11	рс	Touch Mobile 100's	149	100.00	14,900.00
12	рс	Touch Mobile 300's	57	300.00	17,100.00
		TOTAL			149,500.00

Deadline of Submission Technical & Financial Documents	January 26, 2016 not later than 12:00 o'clock noon
IC) NANING OF KIGS	<u>January 26, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable Fee as prescribed below:

PARTICULAR	Amount of ABC	Fee
Newspaper Publication	75,000.00	500.00
Drugs & Medicines	200,000.00	500.00
Laboratory Supplies & Reagents	100,000.00	500.00
Drugs & Medicines	64,128.00	500.00
Fuel, Oil & Lubricants	300,312.46	500.00
Cellcards	149,500.00	500.00

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson